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A | BIOS or solving the chicken-or-the-egg dilemma
Read the text and do the tasks.

1. Define the dilemma the BIOS aims to resolve in your own words.
2. Describe how the BIOS resolves this dilemma.
3. Give examples of other information stored in the BIOS.

Every PC needs an operating “chicken-or-egg dilemma”, i.e.
system (OS). It is stored on a which step must come first?
hard disk drive or a solid state 25 Fortunately, this dilemma is
disk. The OS handles which resolved by the BIOS, a basic
commands are loaded into system on a chip. The BIOS

and executed by the central is tailor-made to ‘know’ the
processing unit (CPU). The CPU is layout of the motherboard, the
nothing more than an integrated 30 location of the disk containing
circuit designed for logic and the OS, the circuits leading to
arithmetic functions. It cannot and from the CPU, and how the
‘remember’ anything unless it main memory can be accessed.
is already executing a program. In other words, the BIOS knows
Since the first instruction of 35 where the bootloader is located.

4 it comes with a small battery

the OS has not already been
loaded into memory, it is not
ready to be executed by the

that constantly supplies the
BIOS’s memory with power.

In this way, the BIOS can keep
track of the date and time, even

This is a software that loads the
components of the OS in the
startup process. The BIOS also

CPU. Consequently, it cannot do knows what needs to be done,
anything with the OS's machine  « and what needs to be loaded

code. The OS in turn cannot load from where into the processor
its instructions into the CPU and the main memory to boot
unless it is already running. This the computer. The BIOS never
is what constitutes a so-called

Put the steps for booting a computer into the correct order.

BIOS initializes the PC’s other components and devices.

BIOS turns over control to the bootloader.

BIOS loads its instructions into its memory.

BIOS looks for the boot disc containing the operating system.

ov @1 i, R

The bootloader loads the operating system.
Describe the process of booting a computer in German.

UNDERSTANDING TECHNICAL ENGLISH
Find the German meanings for the technical terms. Use an online dictionary.

3. to access
4. integrated circuit

1. to execute
2. main memory

BIOS loads the bootloader from the master boot record of the boot disc.

s0 when the computer is turned
off. The BIOS can also store the
settings for the boot process and
other things such as the correct
processor frequency and power
forgets this information, because s management settings.

'WORD BANK

BIOS - Basis-Eingabe-Ausgabe-
System

central processing unit (CPU) -
Hauptprozessor

firmware - Software in einem
persistenten Speicherbaustein
initialize (v) - initialisieren
machine code - Programm-Code in
einer Maschinensprache
nmotherboard - Hauptplatine
operating system - Betriebssystem
setup - Programm zur Festlegung
von Konfigurationsvariablen
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Module 4 | BIOS and operating systems

B | Network booting

Booting is not limited to using local discs. It is also possible, and not uncommon,
to boot a computer via a concept referred to as network booting.

Il Complete the text about network booting using the words in the box.

I complex « network ¢ capacity - operating system ° computer users °
server - efficiency « network connection - central - location - discs [

i |

In the case of network booting the 1 is not stored locally. Instead it is kept at
a different 2 where it is accessible via a network. 3 will not even notice the
difference. However, a fast and stable 4 is required. The operating system is
loaded from a network 5 . The operating systems for all users are managed
from a ‘6 point. In a 7 booting environment the computers can be so-called
thin clients. Sometimes these computers do not have local 8 . However if

| they do, they do not have a high 9 . Thin clients are less 10 computers.
This means lower costs and higher .

C | Troubleshooting

Robert Leiske is doing an IT course at a college in Cologne. Robert gets a phone
call from Victor, an American exchange student of online marketing from CalTech.
Victor has got a computer problem and he needs Robert’s help.

R [l Listen to the dialogue. Decide whether the
®A111 statements are true or false.
Correct the false statements.

1. Robert thinks that the hard disc drive
in Victor’s computer must be broken.

2. Victor accidentally overwrote the
bootloader of the mOS.

3. Robert tells Victor to edit a
configuration file.

4. Robert suggests that Victor reinstall
the operating system.

R B Listen to the dialogue again. Explain Victor’s problem and write down the steps |
®A111 Robert suggests to solve it. |

p A 4 Whatbootloader do you use in your computer? Explain how you can change
its configuration.

I Find out detailed information about GRUB on the Internet. You can focus on
@ the operating systems it supports and also on the filesystems it can handle.
Report your results to the class. 1
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